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Instructions:
1. Attempt all questions.
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Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

Explain need of modulation.

Define the term: (1)Signal to noise ratio (2) Noise factor

Draw the block diagram of General communication system.

List the types of Noise.

Give definition of Amplitude modulation and Frequency modulation.
Define modulation index and explain why m >1 cannot be used for A.M
system.

Compare Low level and High level modulation.

Explain pre emphasis and de emphasis networks.

Define the term (1) sensitivity (2) Image frequency rejection

Why local oscillator frequency is kept higher than signal frequency?

Derive the mathematical expression for A.M. wave.

OR
Explain generation of A.M. wave using Square Law modulation circuit.
Compare wide band and narrow band F.M.

OR
An AF. signal 20sin (2r x500t) is used to amplitude modulate with a carrier
of 40 sin (2 x10°t). Calculate mod. Index, side band frequency and its
amplitude, band width.
Draw the block diagram of F.M. transmitter and explain function of each
block.

OR
An A.M. transmitter with a 10 KW carrier wave is amplitude modulated with
modulation index of 0.6, Calculate the side band power, total power and
transmission efficiency.
List the types of F.M wave generation method and explain stabilized
Reactance modulator.

OR
Draw and explain block diagram of Armstrong method of F.M generation.

Explain characteristics of a Radio receiver
OR
Compare F.M receiver with A.M. receiver.
Explain need of A.M. limiter circuit in F.M. receiver.
OR
Why AGC circuit require in Communication receiver.
Draw and explain block diagram of Super heterodyne receiver.
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OR
Draw and explain block diagram of Communication receiver with double
conversion method.

Explain envelope detector circuit and discuss distortion associated with it.

OR
List the types of F.M. demodulators and explain Balanced ratio detector
circuit.

Explain Sample and Hold circuit.
OR
Compare Natural and Flat top sampling.
Compare PAM, PWM and PPM techniques.
OR
Explain PCM technique with it’s merit & demerits.
Draw and explain Block diagram of Digital communication system.

Compare Digital communication with Analog communication.
Explain about ASK and FSK using wave form.

Define Bit rate, Baud rate, Symbol rate.

Draw and explain Block diagram of PCM-TDM system.
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A, A, R3] duRllctal Yot AaAl.
wcll
WaR Al HlsyAzR ulug €131 Al AU, etRalst dulal.
. A%, 9L 20sin(2nx500t) o 332U A9l 40sin(2nx10°t) WA
Auclleys HsyAst sclHL AUA B, HISYAU Bodel, UES Aod
glsclo(l2 Ual Aol Aruclleys ua Aoscllawsll oLdl wil.
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ABS Ao AS. AU, B ARl Ao A AU, AuLAl.
Ag. AU, glortileRell visla 2ugld €131, e3s weslal sl aglal.
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A, A aloHleul 10 KW ol 33l2AR dRol of Arudleys HlsyAslet
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uleR el 2lerHlatet staleatcioll aatddl .
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AL Utedloll vigla wugla €131 agldl.
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Al
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PAM,PWM3¥a PPM Uted(q fwLCl.
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